
&uie tz ery e\ s.G.

Po luer S€ r ies .

0o

I
f,o

-ao

ZxL
'P=o

nrg\-+t &J

-lr \. (o

= [.32S
s JL+i

& co(-

I
I

- l--wL\
r+ [xt.l / +t *{h, 

)+ 
xe (-tr r) ,

(\ Ul q [,.o,,^e {* t aan. oL4 o u*L,unor-,g-

t", \&^ Qo\: A o,4u *#r*
* as qA i 

^ Qi;{* yaru.ta,

Ce w\^*{- r\ !A- f .ra{- ? Tfu pe^4 lr"Y
C,rr,{r\ orf 9-'Q- ^nn I nSttttt\ 6 TXL a'fLo I

KatU,- 

--

So : I rl so '[,(le-. 
a or. fo

sr<t+x \+Cq:_J- ar^A
sz= rfx+tr. I dLm$r;[*53: L+r+KzfK1 r-F nVy p"ly^"^r*L

I

I

t

I

I

(

Ig

A
8

g
d\

s"(+) : 
I

sr($)- l.+ + =

s,[+)= [+]+
s3[])= *-#

[:'

T
GT = 1, s /%zs

= [,s6&r^.



f=) Crt^ I ,U {-0ris ,^t,& a,r,L \4^ct",\^ ?

!L stA- 9^tr) i PcE:-casch)?

$tx) - €l
t+ go w\^*'{ w-,^'trJ- t4r, ?-\Wra4A["J*
[o-k t'. b-e ?

U_ To.y("n P-tyra,wta*,L .

9tvq.," +CO r"l,*f u^\,N+ t{.( c6 t'-1

[,^ @t* "tsb-l Cqr,.T Luvr{-. 
.

+tA: > L-!\ (r-O&'
fu=o n ' C/':s€7ryTf

S- 6 
P^ cx) : 

#,eX.cx-q) 
{- c"ffic1e*th

@r { tr+tA d-s*3 f i_r^ (,*n o_( 4_

\fgjd =b" ,,eFv { k",*-tru{ [lDg ,'

p"i*+ g -qoi= gt*lCr-^)

Y -+t,A ++to&-o)
ll.trcst sfrq-t?[f- [,^r ol{noox G Qtx) ,

u!-q/\ Q 
"L

Lsl-rtis



k"t*{- ^V**f 
ee pp'rs,xl*o6^q+{K\ ,tW^-

rt l" ( \ n
\Vaa',e,hc l-[ ufro,1/ riJ 7 '

Ta (x) - q + cr 0.-q) N c- Cx-q)f
rl-ttUorrl-.. eKac* 

"p 
pro'K gt &^

?o(q) :co : eto)

Pi(q) *cr : +tt")

GM.Lurl",,., f*F) 
^ Se++\axK*)*l+ttol Cx-e)e

lr'(rot I

tS +0,!- \"*+ T"o/""th"+ "|l) 
rvx k t 

^ae'L 
a,,

ut^"f o_\.r-*{ a cut\, a\
?g 

(x) : e {-- c,. [r-f l- q6(-e)r+ q[x-q)j

Prt &) : Cr +) LczCA-.) + s csCK-4y-'

?$tr) = Ac*+ e,3 c3 fx-a) 
,

PJ"c,t) 
^ a.3 ca = f "g) c3 = *+nh),



Ulus.,+ cLU -.tt- e-- .Ar7r.!L h ?

c5:

?^CD: cn-q}*c:[n-J*^--#Crrr Go\4

.lrr: *gc*)a)

s.t).L
I

F{q_t r prq{ : f^ tx) t+A $ x i. wa^q ,

g-#9 S6;) =x-Y-; *!:^tfnox \f
?rtx\ = $&il*{ka)Cx<)

6c'ln\ 2 {_ \tx_.t)
?t(s,q) : a+dClf9

t*.o

= H =l'cL7rrq3,t)

+oc*)

ScO =-|(--4
{t[x)= ]e Y-

{t,r) - +.-rrz:+
{'tE): +i5a
+t,t) = 4 

,fA.*,

\

=#+o'(4)



!5 $[A: UtA ,'(1
?, fr) = {O+4'[t)(x- r)

=o+(r)tr-D-x-l
?rtA = 8-t) + *+'t,r GO'

+rel- * = Kt

+ftc - -x-2
$"'[x) ^ z x-3

{-tu)[r) = t" {+
I
t_

-- t-l + (+[F-,))

= x-[ - tFl'
P'9"0'ot

,0^x

?rk) = lr-t-fc^-r)l
+(fl+'([t)[x-#

tK-t-fco-,H
++C*-t)3

t


